
Cut Sheet

 

 .29 

 1.00 
3/8-16 THD

 .38 

 .82 

1

3

 .56 

 1.00 

 .24 

3/8-16 THD

 .75 

7/16" HEAD  .35 

3/8-16 THD

3

2

BONDING HARDWARE

1) BOLT, T CSTM, 3/8-16 2) BOLT, BONDING 3/8-16 SQ HEAD

3) NUT, BONDING SERRATIONS

PART NUMBER DESCRIPTION
BHW-TB-03-A1 T-BOLT, BONDING HARDWARE  
BHW-SQ-03-A1 SQUARE BOLT, BONDING HARDWARE  

PROPERTY VALUE
MATERIAL 300 SERIES STAINLESS STEEL

FINISH CLEAR

PROPERTY VALUE
MATERIAL 300 SERIES STAINLESS STEEL

FINISH CLEAR

PROPERTY VALUE
MATERIAL 300 SERIES STAINLESS STEEL

FINISH CLEAR

ITEM NO. DESCRIPTION
1 BOLT, T CSTM, 3/8-16
2 BOLT, BONDING 3/8-16 SQ HEAD  
3 NUT, BONDING SERRATIONS

Bonding Hardware

v1.50


